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Fairman 

Representing: 

Self 

What do you want Ofcom to keep confidential? 

Keep nothing confidential 

Additional comments: 

How many more adults & children have to develop cancers & die before these masts are set 
at safe levels? (if they exist)  
 
Why are the transmission levels in the UK so much higher than in countries such as Sweden 
& Denmark who have recently lowered theirs even more to ensure the population is not 
exposed to any more radiation than is necessary to enable mobile phone usage? 

Question 1: Are there any reasonable grounds why Ofcom should not grant 
the request to vary the five Wireless Telegraphy Third Generation Mobile 
Licences by increasing the permitted maximum in-band EIRP to 68dBm as 
soon as practicable? If so, please explain your reasoning for this: 

Yes, there is The Stewart Report which states that until we are 100% sure that base stations 
and non-thermal microwaves are not harmful we should exercise the Precautionary Principle.  
 
This proposal is not doing that.  

Question 2: Are there any reasonable grounds why Ofcom should not also 
apply the increased permitted maximum in-band EIRP to future 2 GHz 
MSS/CGC licences? If so, please explain your reasoning for this: 

Yes, The Stewart Report which states that until we are 100% sure that base stations and non-
thermal microwaves are not harmful we should exercise the Precautionary Principle.  
 
This proposal is not doing that.  
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